
 

 

 

 

 

 

 

 

 

Is the number to the left of each row divisible by the number at the top of each column? Check the boxes. 

 

  

2 

 

3 

 

4 

 

5 

 

6 

 

7 

 

8 

 

9 

 

10 

 

11 

 

12 

497,652 
           

8,118 
           

28,755 
           

640 
           

874,629 
           

981,274 
           

19,746 
           

6,804 
           

246,972 
           

30,630 
           

176 
           

78,900 
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Is the number to the left of each row divisible by the number at the top of each column? Check the boxes. 
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